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Find the vertical asymptote(s) and x-intercepts of the graph of the function.
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Graph the function. Show vertical asymptotes and x-intercepts.

}jrlh+ pA (O)' I/ZSD

1 x+1 Xk b
5. flO) =5 6. f)=754 xx1=0 X=-|
X- vt = Nong HA ° %‘j“ 8] i e X-L'?,X'H:O (mll o)
VLA X *z5=0 Cr-DA-D=D Y- nd -
( x+e ) X-5) 70 K= o)
X==5 , ¥=5

WA. Y=o




Simplify the ratio;l? expression, if possible.
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Perform the indicated operation(s) and simplify.
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Solve the equation. Check for extraneous solutions
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Solve the equation. Check for extraneous solutions. (o
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